UNIFIED DEVELOPMENT CODE: THE TRANSECT

Understanding the
Transect
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Llessintense € = = = = = = = = = = = = = = = = = = = = = = = = = = > More Intense
Transportation
FewerWalkers € — = = = = = = = = = = = = = = = = = = = = = = = = = > More Walkers
FewerBikers € = = = = = = = = = = = = = = = = = = = = = = = = = = > More Bikers
LessTransit € = = = = = = = = = = = = = = = = = = = = = = = = = = > More Transit
Buildings
Smaller Buildings € = = = = = = = = = = = = = = = = = = = = = = = = = — > Larger Buildings
DeepSethacks € = = = = = = = = = = = = = = = = = - = = - = - - = = > Shallow Setbacks
FewerUses € = = = = = = = = = = = = = = = = = = = = = = = = = = > More Uses
Streets
Narrower Sidewalks € — = = = = = = = = = = = = = = = = = = = = = = — — — > Wider Sidewalks
WiderPlanters € = — = = = = = = = = = = = = = = = = = = = = = — — = > Narrower Planters
LessStreetParking € — — = = = = = = = = = = = = = = = = = = = = = = = — > More Street Parking
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